usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

= u = Entries 9001
o | |
3 F : 6000~ x Sx £ I Mean  -7.433
=T 2000 Entries 36014 IS . TT__* B
-t : E. ® i ][
i 1800 4000 (o0l Std Dev 1437
41— C Mean 4.799 - B
i 1600 2000 - - Jj Underflow 419
I 1400 Std Dev 0.04668 : | 100~ Jl Overflow 422
3 n 00— = u
- 1200 - i
i - i . 80
i 1000 ~2000 - .
21— - i -
- 800 i i
I ' -4000 — Li]L - o0
- 600 vt I
i : R X i
iy 4001 ~6000 . x 40 ]][ﬁ
: - & 0F 8000 |- x 1
..r. - :":1”3 D_Illl I|IIII|IIII|IIII|IIII _II_]_III _IIII|IIII|IIII|IIII|IIII|IIII'.?"'CZ‘“:I:3 ED_IIII|IIII|IIII|IIII|IIII|IIII
' 5 100 150 200 250 30C ; 47 475 48 485 49 495 5 80 85 90 95 100 105 110 -3000 -2000 —1000 0 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run6333 000 maindet usl.png



dsl*CurMon:Entry$ dsl*CurMon {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl

1. Entri 9001
S 1800 evilree ) 200 niries

= e Mean ~3.884
D> 0.5 1600 Entries 36014 1000— ﬁiﬁi*@ 0T

> < RETTTE T2 600

z -_ _ Std Dev  329.1

1400 Mean _3.836

500 Underflow 0

500

1200

Std Dev 0.01386 Overflow 0

e
Sl

400

1000

I
I —
1 4 1] I
1 1
i

800 300

800 -500

510,151 8 r] 0. N L L 13 L8, Ew) 2. [w) T ] 2. [ L4 [P T Tw] = b {uTuT o} L 11
Ay REGEGEOGOE  neanam e saanennne  JEE

B EEEE. OREHEIORAOR: g SRRSO
i > e e

200

§KH§ 100

400

al-gul-jul- . v e

R
TRAETEE. T
o e S e R

-1000

bt

.
}{

rat =e Rl
;. o,

L k- -4
LT AT, T
o1k e T T
SRR T
e 2 o A

200
Y

T 1 | T 1 | T 1 | T 1 | T 1 | T 1 | T | L | T 1 | |
-
T 11 | L | L | L | L | L

I
M
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII

IIII|IIII|IIII|IIII|IIII|IIII|II II|II|III'.:"":‘I'::I3 DI | I|III|IJ.I|III 1 1 |I _15":' IIII|IIII|IIII|IIII|IIII|IIII'.:"'CZ‘II::I:3 D_Illlllll IIII|_J_III |III|IIII
0 50 100 150 200 250 300 350 400 450 -3.86 -3.86 -384 -382 -38 -3.78 -3.76 %D 85 90 95 100 105 110 -3000 -2000 -1000 0 1000 2000 3000

. Entry$ dsl*CurMon pattern_number ppm
run6333 000 maindet dsl.png



usr*CurMon:Entry$

o
T T

usr*CurMon

B

(A% L
I L I B I

—k
L | L

[
H 5

run6333 000 maindet usr.png

x10°

2500

2000

1500

1000

500

usr*CurMon {ErrorFlag==0}

evilree

Entries 36014

Mean 4.775

Std Dev 0.06117

485 49
usr*CurMon

asym_usr/ppm:pattern_number {ErrorFlag==0}

8000
- *
- -
6000 _ XXy o .
4000 T
2000
D:— =I=l=la)s HS A HER
2000 | |||
4000
- LE] ok
6000 . X & % |55
- x %
- o
- >
_EDDD_I L 1 1 | 1 1 1 1| | [ 1 1 1 | [ 1 1 1 | I 1 1 1 | 1 1 1 1| H‘IDS
80 85 90 105 110

pattern_number

dasSym_usr
- Entries 9001
B Mean -11.29
120 — _
I U Std Dev 1486
100 __ [ J Underflow 575
568

= ’J 1 Overflow
80— - ]

ol

40

-3000 2000 -1000 0 1000 2000 3000

ppm




asr-wurivion

I
N
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII

dsr*CurMon:Entry$

.....
B i

HE R
A

HE
Ak
HE

HE
Ak
=T

0

50

100 150 200 250 300 350 400 450
Entry$

run6333 000 maindet dsr.png

x10°

1200

1000

800

600

400

200

dsr*CurMon {ErrorFlag==0}

1 J. |

1 | |

d

evtlree
Entries 36014
Mean -3.762

Std Dev 0.01282

-3.78

-3.76

-3.74

-3.72 -3.7
dsr*CurMon

1500

1000

500

-500

-1000

—1500

8

asym_dsr/ppm:pattern_number {ErrorFlag==0}

- "

i x

s o

C ﬁ}{g;;;;;; ;L

B X x e How

— et g

- s

| et

| et

_I | | | L1 1 1 | | I | | | I I | | | I | | L1 1 1 H‘IDS
0 85 90 95 100 105 110

pattern_number

asym_dsr

- Entries 9001

i Mean 3.714
500

- Std Dev 382.9
400 __ Underflow 0

i Overflow 0
300
200
100

D i I I | | I | | I | .-LJ I O | L1 1 | I O |
—3000 2000 1000 0 1000 2000 3000
ppm




yield usl:pattern_number {ErrorFlag==0}

0.034

T L

0.0335

0.033

0.0325

0.032

I I | I I | I 1 1 1 | I 1 1 1 | I I | I I H‘I U3
80 85 90 95 100 105 110
pattern_number

run6333 000 pairTree usl.png

1400

1200

1000

800

600

400

200

yield_usl {ErrorFlag==0}

htemp

Entries 18005

Mean 0.0323

Std Dev  0.0003487

l I_J_II

0.032

0.0325

0.033

0.033

0.034
yield usl

asym_usl/ppm:pattern_number {ErrorFlag==0}

10000
— s
4 et
B d ®
| et R
XX O TTXT%
5000 ]
5000
L RS WX &
N }{ "
et s a4
I y K
10000 _— N
| I I | | | I I | | L1 1 1 | | I O | | | I I | | | I I | :"i‘IDS
80 85 90 95 100 105 110

pattern_number

800

700

600

500

400

300

200

100

asym_usl/ppm {ErrorFlag==0}

IJ.I.-.J

PairTree
Entries 18005
Mean -7.12

Std Dev 2273

|I_LJ.|

-10000

-5000

l
5000 10000
asym_usl/ppm



yield dsl:pattern_number {ErrorFlag==0}

yield_dsl {ErrorFlag==0}

02565 600 —
- B Entries 18005
0.0257 -
- 500 - Mean —0.02581
02575 i
B 400 — Std Dev 4.608e—05
0.0258
- 300~
02585 i
i znn:—
0.0259 -
I 100
02595 i
_IIII|IIII|IIII|IIII|IIII|IIII:":1“3 D_IIJ III|I||I|IIII|IIII|I I|I L|_|I|
80 85 90 95 100 105 110 —0.025950.02590.025850.02580.025750.02570.02565

pattern_number

run6333 000 pairTree dsl.png

yield dsl

3000

2000

1000

-1000

-2000

-3000

80

asym_dsl/ppm:pattern_number {ErrorFlag==0}

7
1]
(K]
1]
H]
| ]
(K]
(]|
(]
(i1
[l
[illi]
[i3
()]

[l

110
pattern_number

x10°

asym_dsl/ppm {ErrorFlag==0}

PairTree

500
- Entries 18005
400 B Mean -3.825
I StdDev 1095
300
200
100/—
D_I | L ] | L1 11 | | I I | | | I | | I I | | ] 1 J_ 1
' 3000 —2000 —1000 2000 3000

asym_dsl/ppm




yield usr:pattern_number {ErrorFlag==0}

0.0325

0.032

0.0315

0.031

0.0305

x10°

80 85 90 95 100

run6333 000 pairTree usr.png

105 110

pattern_number

1200

1000

800

600

400

200

yield_usr {ErrorFlag==0}

htemp

Entries 18005

0.03213

Mean

Std Dev  0.0003495

0.0305

0.031

0.0315

0.032

0.0325
yield usr

asym_usr/ppm:pattern_number {ErrorFlag==0}

10000 —

5000 —

-
|
o 1
o 1
I | § —
I
I
I
1
I |
I
b
[l I
I |
I
77 1
 1F 1

E}{

- }{____

-5000 —
Ty Ly
| . §
l X g:x: x
hd
10000 — x
_I L 1 1 | I I | I I | I I | I T | | I I H‘IDE
80 85 90 95 100 105 110

pattern_number

700

600

500

400

300

200

100

asym_usr/ppm {ErrorFlag==0}

1

PairTree
Entries 18005
Mean -17.35

Std Dev 2475

Ill

0

000

-5000

0

5000

10000
asym_usr/ppm




0.0251

02515

0.0252

02525

0.0253

02535

0.0254

02545

0.0255

8

yield dsr:pattern_number {ErrorFlag==0}

0

run6333 000 pairTree dsr.png

x10°

85 90 95 100 105 110
pattern_number

yield_dsr {ErrorFlag==0}

500

400

300

200

100

|IILIJ

htemp

Entries 18005

Mean —0.02532

Std Dev 5.975e-05

l ||L|III

0%

53h023h0254h0281025dh02880254h02320254h 0251

yield dsr

asym_dsr/ppm:pattern_number {ErrorFlag==0}

2000 - e X

B o o . .

: xx X ot date
1500 = . * _RRXT
1000
500 1] .

500 T17
~1000
1500 ¥ xxillll Ll
B # A At
- OO MM .
—Eﬂﬂﬂ __ T o }}*{: s

R s

- .

—EEUD 111 | I | L1 1 | | L1 1 1 | [ I | Lo = US
80 85 90 95 100 105 110

pattern_number

700

600

500

400

300

200

100

asym_dsr/ppm {ErrorFlag==0}

oL

PairTree
Entries 18005
Mean 3.75

Std Dev  549.9

L

-2000

|
—-1000 0

1000 2000

asym_dsr/ppm




asym_usl

asym_dsl

asym_usr

asym_dsr

run6333 000 asym maindet mutua

asym_usl

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.008
asym_usl

asym_usl

0.001

J.0005

1.0005

—0.001

=
IIII|IIII|IIII|IIII|IIII|III

]Lﬂﬂ"IEI|III|III|III|III|III|IIIIIIIIII

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006
asym_usl

asym_usl

0.00

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.008
asym_usl

asym_usl

2.0015

0.001

J.0005

1.0005

—-0.001

1.0015

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|II

80(

70(

60(

90

80

70

90

80

70

S0

80

70

&0

50

40

30

20

10

0

[ a0 N —g0
0.006 0.006
B — 80 B — 80
0.004 o 0.004 ; o
0.002 o 0.002
o= 50 o=
| = [ |
-0.002 40 -0.002 x
B - N
_0.004F 30 _0.004F 30
N 20 = 20
-0.006 -0.006 -
i 10 i 10
-0.008 O -0.008 O
i L1 1 1 | | I I | | | I I | | | I I | | | I I | | L1 1 D i | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | | I | | | I |
-0.0015 -0.001 -0.0005 O  0.0005 0.001 ~0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008
asym_dsl asym_usr
- —80( - 70
0.001 _70c 0.001 e
l 60 l
1.0005 1.0005 50
Z 50( Z
o o
i 40( -
7.0005(— 30 7.0005—
l 20 l
~0.001 ~0.001
i 10¢ | ]
- M B [ |
:I.ﬂﬂ L1 1 1 | | I I | | | I I | | | I I | | | I I | | 1 1 1 D :Lﬂﬂ*lE | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1
93%015 —0.001 —0.0005 0  0.0005 0.001 ~0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008
asym_ds| asym_usr
D.Dﬂy == D.Dﬂy ==
. . - —70 C —{70¢
0.006— 0.006—
- —60 - —60(
0.004 0.004
. —30 . —{50(
0.0021- _ | 0.002[
N 40 N
oL oL 40(
_0.002]- 30 _0.002]- 30¢
-0.004F " =20 -0.004F 20¢
-0.006 10 -0.006 1o
i m " i
-0.008 ~0.008
1 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | 1 1 1 D —l 1 1 1 | 1 1 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1
-0.0015 -0.001 -0.0005 0  0.0005 0.001 ~0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008
asym_dsl asym_usr
ym_ L asym_
B [ | B [ |
2.0015F ao 2.0015F g
0.001 —70 0.0011 _leo
2.0005 (60 2.0005 . N
x 50 x
O O
- 40 - .
j.m:ms:— a0 j.m:ms:—
~0.001F 20 ~0.001F
- - " 10
= '“'_" =
2.0015F 2.0015F . N
_ 1 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | 1 1 1 _ | 1 1 1 | 1 1 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1

lD.DI[HE -0.001 -0.0005 0,065 0.001

“correla

0 0
—0 gt 006-0.004-0.002 0 0.002 0.004 0.006 0.008
t dsl asym_usr
1011- 1l
®

asym_dsr

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

-0.0015-0.001-0.0005 0 0.0005 0.001 D.0015
asym_dsr

asym_dsr

0.001

J.0005

J.0005

-0.001

=
IIII|IIII|IIII|IIII|IIII|III

|
jlﬂﬂ‘lEII|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

0.00

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

-0.0015-0.001-0.0005 0 0.0005 0.001 D.OO15
asym_dsr

asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 0 0.0005 0.001 D.OO15
asym_dsr

50

80

70

&0

90

80

70

&0

70

&0

80(

70C

60(




asym_usl

asym_dsl

asym_usr

asym_dsr

run6333 000

asym_usl

%= [ ndf 55.68 / 41 =

p0 3.196e-07 £ 5.191e-07 -

P 0.9991x 0.0003

-0.002

-0.004

-0.006

-0.008

'|‘I|III|III|III|III|III|III|III|III

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006

asym_usl

¥* f ndf 2057141

0.4 __ pO —4. 08306 + 3.519=086
I p1 —0.005871+ 0.002154
0.2 _— Cor factor -0.0232

0.4}

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006

asym_usl
¥* { ndf 47.59 | 41 *
pC —8.542e-06 + 1.855e-05 Jr )
p1 0.5404 + 0.0114 -
Cor factor 0.4819 t[ H J_
B *I}I
oF
—D.D{}E:— ___ | HJI
3 I
-0.004
ol b b b b b by by

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.006

asym_usl

¥< { ndf 3757/ 41
p0 35206+ 4.1e-06
p1 0.002471 + 0.002589
Cor factor 0.0098 * i
oF [P
: I : ity

_.12:_ : | | __

0.4}

]

asym maindet mutual

asym_dsl

0.003

0.002

0.001

-0.001

_D=ﬂﬂ2-|_|||||||||||||||||||||||||||||

¥? / ndf 51.49/ 41
pO —-2.372e-07 + 1.9289e-05
p1 —.1299 + 0.0681

Cor factor -0.0232

-0.0015 -0.001 -0.0005

asym_dsl

0.0005  0.001

x= /[ ndf 38.55 7 41

pld  -2334e-07 £9.273e-08

Pl 0.9992 = 0.0003

J.0005

-0.001

-IIIII|IIII|IIII|IIII|IIII|IIII

-0.0015 -0.001 -0.0005

asym_dsl

0.0005  0.001

0.004 —

0.003

0.002

0.001

-0.001

-0.002

-0.003

=
rrryrorrryrrrryprrrrjprrr1rr1rrr1r1yr1rn1r1r1n1rn1runri
I I I I I I I

—_——

T

—_—

RS E—

—t

—_——

¥? / ndf 47.71 1 41
pO -1.996e—-05 + 2.120e-05
p1 02017 £ 0.0741

Cor factor -0.0184

-IIIII|IIII|IIII|IIII|IIII|IIII

-0.0015 -0.001 -0.0005

asym_dsl

0.0005  0.001

0.3

0.2

0.1

-0.1

Bl

-0.2

-0.3

-0.4

-0.5

_l Cor factor

¥/ ndf 46.04 / 41
pO 0.268e-06 + 4.110e-06
p1 —0.01908 + 0.01455

-0.0059

| *IIIIJJITTIH-I-'III _

:IIIII|IIII|IIII|IIII|IIII|IIII

0.0015 -0.001 -0.0005

COrre

asym_usr
%* { ndf 50.05/ 45 -
p0 ~1.784e-06 + 1.674e-05
Zr::r fE;L':tDI‘ o i::s: #ﬁ#ﬂ {__
ol
- I ]
-n.nﬂz:— ]I I[MH
-D.nm:— “ H
Ll b b b b b by By |

—0.008-0.006-0.004-0.002 0O

0.002 0.004 0.006 0.008

asym_usr
D.E_— ¥2 / naf 43.29/ 45
) E:_ p0 —4.315e—06 + 3.520e-06
E | p1 ~0.003075 + 0.002000
0.4~ { Cor factor -0.0184
0.2 } _ Il H
0 :_ NI J[ ! + I |
S (LRE AR i }
02 - k |
~0.4(
~0.6F

—0.008-0.006-0.004-0.002 0O

asym_usr

0.002 0.004 0.006 0.008

2 ndf 59.56 / 45

p0  -5.324e-08 £ 5.281e-07

p1 0.9991= 0.0003

-0.002

-0.004

-0.006

—D-ﬂﬂa‘r|||||||||||||||||||||||||||||||||

—0.008-0.006-0.004-0.002 0

0.002 0.004 0.006 0.008

0.8 12/ ndf 47.48 /45
I po 3.532¢06 + 4.087¢—06
0.6/~ p1 ~0.0004949 + 0.0023280
- Cor factor 0.0003
0.4+ ‘
0.2 } '
o I*II{ | II
_02- } { )
_D"ql_l | 11 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 I 1 1 1 |_ 1 1 1 |

—0.008-0.006-0.004-0.002 0

lation-fit.png

0.002 0.004 0.006 0.008

asym_dsr

%2 ¢ ndf 34.59 / 40

PO —1.385¢-05 + 1.913e05

p1 007748 £ 0.05723

Cor factor 0.0098

0.002

0.001 1[ ' }l

-0.001

-0.002

—IIIIIII|IIII|IIII|IIII|II

—0.0015-0.001-0.0005

asym_dsr

0 0.0005 0.001 0.0015

- ¥2 / ndf 38.81 / 40
0.3
- p0 —4.701e—-06 + 3.5222-06
0.2 _
- p1 —0.0121+ 0.0104
0.1
- [] 1[% + Cor factor —-0.0059
B |
0 ! € NN 2 IITIN |
E - * { T+I+"I*+’r b 1 TJrIITJ[mJ[ }'&”‘ | |
| 11—
—0.2F
-0.3F
~0.4F
~0.5F
'_I'IIII_III|IIII|IIII|IIII|IIII|IIII|III
-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
¥/ ndf 56.55 /40
p0 —2 569205+ 2.1152-05
p1 0.01363 + 0.06300
Cor factor 0.0003
U002 ‘
0.001 -

=
=) L N L I B

I
P

_'_

—+

—_

_'_

—_

—_—

—0.001
-0.002 ¢
[ I | I | | | I | | L1 11 | L1 11 | | I | I | I | | L1 1
—0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
2.0015F p
B Entries 9001
0.001
- - Mean 3.714e06
7.0005—
B Meany 3.714e-06
O Std Dev 0.0003829
1.0005 — Std Dev y0.0003829
~0.001F =
1.0015— _ -~
_I [ I | I | | | I | | L1 11 | L1 11 | | I | I | I | | L1 1

—0.0015-0.001-0.0005

0 0.0005 0.001 0.0015



asym_usl

asym_dsl

asym_usr

asym_dsr

run6333 000 asym _”iﬂi‘“f“?’a”fdﬁﬂclefmﬁi'ﬁﬂtua

asym_usl

0.006—

0.004—

0.002—

-0.002 —

-0.004 —

-0.006 —

-0.008 —

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.008
asym_usl

asym_usl

0.001—

J.0005—

1.0005

—0.001—

]Lﬂﬂ‘IEI|III|III|III|III|III|IIIIIIIIII
—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006

asym_usl

ym usl

0.00

0.006—

0.004 —

0.002—

-0.002 —

-0.004 —

-0.006 —

-0.008 —

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.008
asym_usl

asym_usl

2.0015
0.001 L

J.0005—

1.0005

—0.001—

1.0015—

asym_dsl

0.006—

0.004 —

0.002—

-0.002—

-0.004 —

-0.006—

-0.008—

-0.0015 -0.001 -0.0005 0 0.0005 0.001
asym_dsl

asym_dsl

0.001— 3

J.0005—

J.0005—

—0.001—

:I..ﬂﬂ 1 1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | 1 1
—81.50[}15 -0.001 -0.0005 0 0.0005  0.001
asym_dsl

asym_ dsl

0.00

0.006—

0.004 —

0.002

-0.002—

-0.004 —

-0.006—

-0.0015 -0.001 -0.0005 0 0.0005 0.001
asym_dsl

asym_dsl

2.0015

0.001—

J.0005—

J.0005—

-0.001—

J.0015—

lD L0015 -0.001 -0.0005 0.001

asym_usr

0.006—

0.004 —

0.002—

-0.002—

-0.004 —

-0.006—

-0.008—

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_usr

asym_usr

0.001—

J.0005—

J.0005—

-0.001—

jhﬂﬂ‘IE|III|III|III|III|III|III|III|III

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_usr

ylll usr

0.00

0.006—
0.004 —

0.002—

-0.002—
-0.004 —

_0.006 nd

-0.008

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_usr

asym_usr

1.0015]
0.001 S A

J.0005—

J.0005—

_0.001F B

2.0015

—-0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

correlation:scat.png

asym_dsr

0.006—
0.004 —

0.002

-0.002—

-0.004 —

-0.006—

-0.008—

-0.0015-0.001-0.0005 0 0.0005 0.001 D.0015
asym_dsr

asym_dsr

0.001—

J.0005—

J.0005—

-0.001—

1.0015 R S B A S B S A S S A S A A A B A B AR A
-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsr

asym_ dsr

0.00

0.006—

0.004 —

0.002—

-0.002—

-0.004 —

-0.006—

_DLDGE_II|IIII|IIII|IIII|IIII|IIII|IIII|I

1
-0.0015-0.001-0.0005 0 0.0005 0.001 D.OO15
asym_dsr

asym_dsr

2.0015

0.001—

J.0005—

J.0005—

-0.001—

J.0015—

1
-0.0015-0.001-0.0005 0 0.0005 0.001 D.OO15
asym_dsr



